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General Instructions :

66/2/1

(i) Answers to questions carrying 1 marks may be from one word to one sentence.
(ii) Answers to questions carrying 3 marks may be from 50-75 words.

(iii)  Answers to questions carrying 4-5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

T Y ST FE ANTA-oY Sl 419 T 7 7@ gU halel 3rad 1 i i, Thareti & gm=
T qAT 32T T U H W & 2 270 ST o 9T § HROT T |

Is management concerned only with doing the right task, completing activities and
achieving goals without taking into consideration the cost-benefit ? Give reason in

support of your answer.

Te % Ush 13 o ® § TS ol G BT |

Define ‘organising’ as a function of management.

3T HISATHS Erd T A9 FATZ ST HS=4hid e FTer HeTera bl g H Feradl il ¢ |

Name the organizational structure which helps in increasing managerial and

operational efficiency.

HTATHEH HREARTT | FRIeTe t qHeT H1 Seoid ST |

State the role of ‘Inspector’ in functional foremanship.



5. fodra e % 39 U&7 T A FAI gU ool ity St st we famitem o & s ey

Y R & | 1

Name & state the aspect of financial management that provides a link between

investment and financing decisions.

6. ‘I TouH WA feAfee TSt UrE aTel UA.S S, Soad o T Y @ At SR W
TR & AT G HT Gl A | FHEE! Y GAHE Seae &7 Ui 5T 800 Fod i et | FHE
% TaUu Yo, G J SR % @IS @ AR g i foran 6 o dre-fadrT giee @ o
o Y YT HEM | ek 3= AfasT T 23eeh | T STH TR &1, 37: SIS sosii hl
TUTErT TE AET H R % [T 39 Ush Ueha B9 @IS T Foi o |

AT Tt T YST STEATAHATS ! I e Aol A bl T | 1

‘Best Bulbs Pvt. Ltd. was manufacturing good quality LED bulbs and catering to local
market. The current production of the company is 800 bulbs a day. Sumit, the
marketing manager of the company surveyed the market and decided to supply the
bulbs to five-star-hotels also. He anticipated the higher demand in future and decided
to buy a sophisticated machine to further improve the quality and quantity of the bulbs

produced.

Identify the factor affecting fixed capital requirements of the company.

7. TIUUM % 3T HE F AW SR S @i (3oel)) Yo & Feweul o § qefd ¥ | 1

Name the marketing function which is concerned with the important decision of

managing inventory.
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Ao T4 3TN Ta STHRIY a3t il TS o (7T SHEM T faRIT §ohM O Sl 41 | 39
T T fai= siiet & fafe= WR & 3ca1g S5 STt oRe WS i o JeT Surerd faskaehdr
o AT STEvgehar & af 3Tl foskd TRfd a1 o1 | TifchT 98 3oh 39k oY | &g ¥ of |
3Gk T 3= T EHIM NS T o1 oh UFas S9 §hM W ST § 3791 3T 31 T8
F FF TaTdT € etk SHh B % U 9gd 9l 9¢ S Bl §hH &, [ U SuENT Ue
ST TY STCTH B € |

3T A AHAS § 39 o9 g W S HT R YBT | A A I {6 98 310
AMYHRI | T Ueh MBI T TN Y TeT & [STAhT VAT 8 U i SE1 571 el 3T § el

T Gl |
e 51T TR {0 SUsferT 21Teh o1 Soei@ ity |

Manvendra always went to a specific shop to buy all consumable and non-consumable
goods. In this shop variety of products of different brands were displayed nicely and
the sales person available also gave good sales presentation if required. But this shop
was quite far off from his residence. His friend Annant always wondered why
Manvendra wastes so much time in going to that shop where as there were many big
brand shops situated near his residence having consumable and non-consumable

goods.

Annant asked Manvendra the reason of going to that particular shop. Manvendra told
that he was exercising one of his ‘Rights’ which he could not exercise in near-by big

brand shops.

State the consumer’s right which Manvendra had exercised.

fTaisT =1 fohegl o HTet ol 9Hesy |

Explain any three limitations of ‘Planning’.



10. &t Hed AR, ST TS & @ § 3T GHE H &y I+ HT a0 H E € |
TS § g & ST o7 31X 78 YT <Te1 &1 T W@ & | 3T 310 o Rewr, o orefi-aredt
3O THSNT, I B &, & TEehT HRUT G o ol el |

fecror & uman T 3ok fudt ot 310 HH=al @ Frgar § favard & o1 3R 9 3w
RITE T T 6 A W@ | T & A b Ao § YRS i BT o | 3T HHERT G
T |

(37) U frel S Geier arenatt Y TeH ST fe SR SR TRIITEST 30 el
ITe &l Y 1 & T |

(@) SUE (37) 9T H Tg T Uedish sTell o Wb bl Ueh 37Y ST€T 31 Sooid hilsy | 3

Mr. Mohan Kumar, is the owner of Jason’s Enterprises, carrying on the business of
manufacturing sanitary items. There is a lot of discontentment in the organization and
the targets are not being met. He asked his son Ritesh, who has recently completed his

MBA, to find out the reason.

Ritesh found that his father did not have confidence in the competency of employees
and was not seeking their advice or opinion. There was also lack of transparency in the

operations of the business. Thus, the employees were not happy.

(a) Identify any two communication barriers because of which ‘Jason’s Enterprises’

was not able to achieve its targets.

(b) State one more barrier each of the type identified in part (a) above.
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11. el u=amess fefies & dF HHaR! — fomig — HHe SHTET Uawe, SHST — Hes Ueush
qAT 3TN — fauur 3reger F Hroe Sig &1 o= foma |

FHAT % T HIEBR o - THa GHTE o — 15 o1 ST 31T S8 3R
fera foF 9 TeA Bie ¥ Yget Tt @rell Usl ot SR S | {918 = end T3 1o 39 arefiey
YT g & A TS foa g ¢ | A ISR § 39 Y Y 5T S f 9% Wt Savas
H M | T&F HESR U 0 [T Ferd & T | ToRT 7 S [ped” & g
forar e “fedielt weamest fafges” & fore fauom sreaer o ug o1 fommoe feam | o et
% foTT Ueh 3R Uit st Ral H Thet gU | SHYT & o U% ol e H 3UeTed 3TreTd
ST ST ST O ek WY T T |

(3) U o U1 T R o feIu fEdet texmmestsT fafide gRT Uge el 3 3Tiweh/ser
|l & AT TRy |

(@) SR H YggH T 9l o Tedieh Al o Uh-Ueh A Fl Seoid |l iy |

Vinod — The Human Resource Manager, Umesh — The Assistant manager and Ashok —

The Marketing Head of Hitashi Enterprises Ltd. decided to leave the company.

The Chief Executive Officer of the company called the Human Resource Manager,
Vinod and requested him to fill-up the vacancies before leaving the organization.
Vinod suggested that his subordinate Rajesh is very competent and trustworthy. If he
could be moved up in the hierarchy, he would do the needful. The Chief Executive
Officer agreed for the same. Rajesh contacted ‘Zenith Recruiters’ who advertised for
the post of marketing head for ‘Hitashi Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Umesh’s vacancy was filled-up by screening the

database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Hitashi Enterprises

Ltd.” to fill-up the above stated vacancies.

(b) Also, state any one merit of each of the above identified source of recruitment.
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12. ot 3TfEe Tl 68 9 % TET o | St 37T AW S B @I AT | SR gw &
Fiteh b FEUfd T T TTIRT S T H W@ A7 | 396 39T H TR G AR ag
W AT | 9% = Hid T [ a8 e S 1 SIUURT BT | MG T ST o o 39
TGO & AT b % 3TN BT o TS | o Bl T &0l &H o A 576 A o 3797 TG
1 SAEHR L A1 | 3T 20 T o T T A w6 9 3TF 9 & e H 6 WIS
0 TafaitsTa ohe, T & 3 ST o o1 St araeT o |

STEY 3190 T ol 40% o T 3R 09T & 3791 7 IR Godf 37 8.4 il Tud
T | SO 2.4 S T 1 A AR R | 3T 1.2 s T 4t anfeed e i g fau
3T 1.2 g T8 W W T | IRAF Wiayid ue faf=me dig (Teh) §R1 St orent 9
B TE MEHd ™ % 9" 39 ACEHG S gorsr ga | Hel 7 3fieed Tar W AR
STHTT ST |
SR IS ¥ Ufedl I SqYT B U Jelt g7 FAoqfee foheel & it ol vew we
ITHT IeoTE I | 3

Mr. Aditya Gupta was the chairman of ‘Vandan Bank’. The Bank was earning good
profits. Shareholders were happy as the bank was paying regular dividends. The
market price of their shares was also steadily rising. The bank announced taking over
of ‘Karur Bank’. Aditya Gupta knew that the share price of Vandan Bank would rise
on this announcement. Being a part of the bank, he was not allowed to buy shares of
the bank. He called one of his rich friends Nimesh and asked him to invest I 6 crores

in the shares of his bank promising him the capital gain.

As expected, the share prices went up by 40% and the market price of Nimesh’s shares
was now % 8.4 crores. He had earned a profit of ¥ 2.4 crores. He gave T 1.2 crore to
Mr. Aditya Gupta and kept I 1.2 crore with him. On regular inspection and by
conducting enquiries of the brokers involved, Securities and Exchange Board of India
(SEBI) was able to detect this irregularity. SEBI imposed a heavy penalty on Aditya
Gupta.

By quoting the lines from the above para identify and state any two functions that were

performed by SEBI in the above case.
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13. UF forel dF feon-Feer o1 Sooig ShiTsTT ST SUHIERT Sie gRT Uiauel & foit o SRy fhT ST
£ 519 o8 TYTehra B FL1dar % I § A el ¢ |

State any three directions which can be issued by the consumer court to the opposite

party if it is satisfied about the genuineness of the complaint.

14. Yo o fohel o ToRIodnatl i THemsy |

Explain any four features of management.

15. ‘T TiRHey faiee o o™ &1 Jae Jolfe™n § X @ oo | e %
SoTaRITeh a3t o ST Y WX REATI & |60 o U9 ! § 9T Sl 379 ScaRl
T U &Y ST | A S IRA W Gesh] (ashdrat ot Hge forar fSeen afaearsti o |

TeeT 3TH-c1Te T 7 Ak ST STevdehal &l Tieh i G: Iid &l ST T |

SR T o afad Sedgeh aiervT o AT il TEe-T Ue oAy |

‘Accent Electronics Ltd.” was operating its business in Malaysia. The company started
exporting its products to India when the Prime Minister announced relaxation in
import duties on electronic items. The company appointed retailers in India who had

direct on-line links with the suppliers to replenish stocks when needed.

Identify and explain the dimensions of business environment discussed in the above

case.
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16. ‘Uel o feafee 3 f9er & us Usg & ° SRl 1@ & 9gd &Y 368 Sueted &, 301 2%
fHoT 6t U 7 thedt T e T (0T fo7a | S 8 o o A uel T fefes e
TS BT ST fhaT | et | T Bt h1H o feAT STreitd i o o st = @ ot for
foran fob Tl URER ¥ Whet, ST, SR Sodis Sl Sgd 9 growmd off SUeisd IS
ST |

“UeT zog feafqee” 3 sreafyss oy S1fTa e URY &< f§am | weh St U antt sheat =
T TS Ve ‘G i U TR [Ies’ §RT 3eTd ThU ST I8 3Tk o o hRUT
HT O T o6 [T FeT |

T 7 U {6 SHT & FiE § WSS 38vEt bl Wi & e fafe= et &
T AT e € | Ucdieh HHAR] Sl T8 9 & [ i fhdeh Uid STREME! Ud Samese § |
heeT 3T BT & Tob ST TS H WUYT FIUM el & HIEH T & 8l € | STalfch “UeT 2o
ol Tuir 1 STavahaaR Fuf fTensti § wafed g &t SFafd W& el &, el
IS T IE HTE Bl & SR Wegad ot R Wt & S |

(37) TS % 39 UBR I UEAHT ST FEIG0T Sl T TG9met H yenfed e st SFHd “ver
7o foAfee ol U T € |

(F) AN (37) H UETH T TS % YHR % Ueh AN Hl Seoid DT |

(@) TH S G HT Seoid HifT S del 2o fafiee” TamsT 6l Goiftd S aedr € | 4

‘Panda Trucks Ltd.” decided to set-up its new truck manufacturing factory in the
backward area of Bihar where very less job opportunities were available. People of
that area welcomed this effort of ‘Panda Trucks Ltd.”. To attract people to work in its
factory it also decided to provide many other facilities like school, hospital, market

etc. in the factory premises.

‘Panda Trucks Ltd.” started earning huge profits. Another competiting company asked
its production manager ‘Sanjay’ to investigate the reasons of earning huge profits by

‘Panda Trucks Ltd’.
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Sanjay found out that in both the companies there was systematic co-ordination among
the various activities to achieve organizational goals. Every employee knew who was
responsible and accountable to whom. The only difference was that in his organization
communication took place only through the scalar chain, whereas ‘Panda Trucks Ltd.’
was allowing flow of communication in all the directions as per the requirement which

lead to faster spread of information as well as quick feedback.

(a) Identify the type of organization which permits ‘Panda Trucks Ltd.” the flow of

communication in all the directions.

(b) State an advantage of the type of organization identified in (a) above.

(c) State any two values which ‘Panda Trucks Ltd.” wanted to communicate to the

society.

H.0G, TSI [’ Ueh Soll HRTCTal YIHSIGTAT T off | SadTT & 3kl 21 o 219 el
319 TTEehi o1 TN S o foT fafee= JIsat &t A= o & | el i A1 o SFER 219 =T
TATE STETST 5T AT Sl A7 STaich ST 2 TSHA FRT AT Al of | TqH T hael 3T
TG G A7 3 F-F S R Afeen TS B 3Thel A FA F AU AR g

qear ar |

T IRUTHEEY, 3THHE Wi 32l &l Wi & 7T 39 TR § % Fal & urd &
SIET STY STUTRTT o7 | AT & YT HIREBRT SUBHRT Sl 30 I H YT IeT | 3T JH =l
T AT, 9 foua | STk Q1Y <@ bl AU BT BT AT AT 9] aF | T8 i ferar wn
T wfasr & a1 Gfed T TS U Y A HET 3T AT & THI H GFUAN ST F
T W& T ST ST ATl TRTT bl =T § T | ST ThRIcHS TTe Uel X 29 & Tedsh
TEE - 2 A1 §RT ST T § 1 HEA1 U T T |

T HESR! BN §RT T U= o 1 & I Dl ORI T Jeoid HiteT |

10

4



‘K.S. Energy Ltd.” was a energy efficiency consultancy company. To get the business
the team leader and his team used to travel to different states to give presentation to
their clients. As per the policy of the company, the team leader used to travel by air,
whereas his team travelled by road/train. It was not only time consuming but also at

times forced female team members to travel alone.

As a result, the subordinates were not acting in a desired manner to achieve
organizational goals. The CEO came to know about it. He called the team leader,
discussed the matter with him and changed the travel policy of the company. It was
decided that all the members including the leader would travel together in future and
would usefully utilize the travelling time in discussion with the subordinates about the
presentation to be given to the clients. This made a positive impact and every member

of the team started acting in a manner as desired by the team leader.

State the features of the element of the function of management used by the CEO.

18. SieT feAfee ‘oa = arelt A ol [T &Y Y&l o, T STh! TuTamT 31K el i U5
ST AT [Tsha-SURTT YaTeTi o HRUT Sgd UGg off | P! SR | Ueh ST0T sheoT ot
3R ST A ST T T oAl | TR AT % FRT FHHAT 7 fosha-Sw Jars
S AT &% Y (AT | 3k UROTREEY ekt o W1 HHT o Tr T &l T a7 ST
1 TR | HET B W & T | FAH ST % o AT HH B T 3o e
TO% AR | fafad geT | favetour W =g udr Fet o faskaiorT= Jansti st &= | & W@
TN HROT AT | 3TA: BT = ST Dl 7RI § 701 DfeT ht WIRIT i Teh T IR HiA
% oo Tt Tve 3UTT STUATT | S UROTHREEY TS | Sy i @i o guR 377 |

(30) SWITT a0 e H [auurEesdl §RT S i Sfa & GERA & o0 uged qeer &

HEA &l AMH ddld g¥ 3Hhl 3cvid % :_le |

(F) 9T (371) | UgAM T QreH i Y Jf IHesw | 4
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19.

20.

Diksha Ltd. was marketing ‘Dish-Washers’ which were very popular due to their
quality and after-sale services provided to the customers. The company was a leading
company in the market and earning huge profits. Because of huge profits the company
ignored its after-sale services. As a result its relations with the customers got spoiled
and the image of the company was damaged in the eyes of the public. Top
management became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring after-sale services was its reason. Therefore,
the company took all possible measures to protect and promote its image. As a result

the goodwill of the company improved in the society.
(a) Name and state the communication tool used by the marketer in the above case
to improve its images.

(b)  Also explain role of the tool as identified in part (a).

e SIS | =T Gstt femee o) ol =) fafeat s seoi sifs |

State any four methods of floatation of new issues in the primary market.

3 o gel e = Soereet Wi § ot Tl gi i | SEH $w wHg a% o1 S g
%t THTOT HEET | B AT | 9 3 T § g9 Tl o7 | 39 98 (o foran o 9 oe
Y HUET i T D Teh AT Tohg TAMUT HAT | ST FT 3299 Ud e M [y 37
I WS X I D HE-FE ST |
IR T Ie3F WIH a9 H A=itTa AT o 80% AT ST he1 a1 | T8 For foran man
FHedT Il SI9 HUET, g7, T TN &1 T 1 SUR W TR S | 394 I8 ot Hoig foran
T 3Tot SHMT & T I IUTRT o [aUu o fots @it TTaeeh TN 1 e foRaT ST |
3T IR Ve o &Y § Rt #t gt T S searee feranett @t fonfsa & &
et aRient bt oft forr foran | Rawr = a9 o) & el | FHHwIRET S STEvIHAT T YS9
A el TTaRoT ot AR fohar | 3T aTett SaTgsh! & fow Ferd = Raer o esEr ot
SCATRT o 310 el o I | o grer fohar |
el URET H U A gT U ST aTel SHEEl 0 3 200 id 7 3 S i =won ot
HE |

GrEa AT S Gl Sl 38Y B §U S drad [ AT o WRRT
T T THEATST |
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Two years ago Nishant, completed his degree in Textile Engineering. He worked for
sometime in a company manufacturing readymade garments. He was not happy in the
company and decided to have his own readymade garments manufacturing unit. He set
the objectives and the targets and formulate action plan to achieve the same.

One of his objectives was to earn 80% profit on the amount invested in the first year. It
was decided that raw materials like cloth, thread, buttons etc. will be purchased on two
months credit. He also decided to follow the steps required for marketing the products
through his own outlets. He appointed Ritesh as a production manager, who decides
the exact manner in which the production activities are to be carried out. Ritesh also
prepared a statement showing the requirement of workers in the factory throughout the
year. Nishant informed Ritesh about his sales target for different products areawise for
the forthcoming quarter.

A penalty of ¥ 200 per day was announced for the workers who found smoking in the
factory premises.

Quoting lines from the above para identify and explain the different types of plans

discussed.

21. 9, TS ! U TgIL HHAT § HERT & | ISl Hial G 9 3T @R o7 | ST 39 ok
! S Bl TS, A U1 TN o S TR & | SEeht R Sge o7 o, ofd: 39 STuare
T ol fora T 3R SRRl 3 3 TR HolE &Y | SHb Uk Treft F 3k A T @
U faftad gaar 9Sit | foAd = T & e % ot HHEE S aRr & 6w W 36 R
! UTAT X gU Ueh Tarad gorT &t | STa HeTveeeh ol 36 9N | 31 gaT, a9 38 Hl &
3T YHTHIUT 3T Tk 3TG-UIG Dl THE BT ST {527 |
(37) ST ST W SRS Te SIS T ¥ qef-< dfeal S 339 iU |
@) AENE TS S el & foRiaret &1 Seehd HIT |

@ fodld §RT 9T B qEitd T ST et foheal 3T Goat Pl Yge iy | 5
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22.

23.

24.
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Yash is working in a multinational company in Noida. He was running temperature for
the last many days. When his blood was tested, he found positive for chickengunia. He
was admitted in the hospital and a blood transfusion was advised by the doctors as his
condition was very serious. One of his colleagues sent a text message to his immediate
superior ‘Vineet’. Vineet immediately sent a text message to the employees of the
organization requesting them to donate blood for Yash. When the General Manager
came to know about it, he ordered for fumigation in the company premises and

cleanliness of the surroundings.
(a) From the above para quote lines that indicate formal and informal communication.
(b) State any two features of informal communication.

(c) Identify any two values that are being communicated by Vineet to the society.

Uy o T a9 HI=or S % G 6 Seoid ST |

State the relationship between ‘planning’ and ‘controlling” functions of management.

Uy o fagTar o A< U UehlT Sl afel fohwal = fagetl st 9HemeT |
5

Explain any four points that highlight the importance of principles of management.

Tt feIHes U Soiaiieh Il i ol e & | 39! 3791 4oit ¥ 120 @ § | fuse
T THH! T 3T A X 0.5 oA | afereitor 3 T et W T 80 NG I SR TEwEshar
off | 29 foTT AT 3 10% Fomod Fifha seeh fod Ui T | =re] ad o &eer A
fafaifsra ot o) ¥ 16 oE o 37T Rl | 39+ 40% i 3T ¥ 3T I foha |

(30) oI HITTT o FarferefierRor ux STOTENAT bt Uil 3197 3T & &Y g3 A1 &1 g | 370
OIS Sl T T I TIMET |

@) Y E 3T Yo I & 9T & T H HEAT §RT FOE & O % uet | =l de
HHT T Iooid I HIfT |
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25.

Sakshi Ltd. is a company manufacturing electronic goods. It has a share capital of
T 120 lakhs. The earning per share in the previous year was < 0.5. For diversification,
the company requires additional capital of ¥ 80 lakhs. The company raised funds by
issuing 10% debentures for the same. During the current year the company earned

profit of ¥ 16 lakhs on capital employed. It paid tax @ 40%.

(a) State whether the shareholders gained or lost in respect of earning per share on

diversification. Show your calculations clearly.

(b) Also state any three factors that favour the issue of debentures by the company

as part of its capital structure.

ST F TR TR 6 b O ST BT U Uthe WIGT | Uohe W &1 TS goAT T &l oAl |
THHT IUAN e 8 AR & TS | STAISRT G013 o SFaid 36 STell ®BRA |
TRt 7 o 3T 39 TEd 7ol T2 |

(3) SR @i § 3 Hewaqul Uee] i Ugdl-T [STaeh! [aquehdl 51T STaeeT i T8 ¢ |
@) WA (37) H TEdH T 96e] % Bl H H&q H FuH HirT |

Pooja purchased a packet of juice from the local grocery shop. The information
provided on the packet was not clear. She fell sick on consuming it. She filed a case in

the District Forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect which has been neglected by the marketer in the

above case.

(b)  Explain briefly the functions of the aspect identified in (a) above.
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